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Challenge
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1) Gemma is multiplying the following sum:

1/5 x 1/6

The answer she gets is 2/30.
i 3) If the answer is 12/18, what could the question
Explain what she has done. i be?

How many options can you find?

2)If $ x4 =1/8is 2/8 x 2/4 = 2/16?

Explain your answer.




image1.png
7
8

9

401

10
x9

6

3

6
10
8

2

8

1

4

x7: T\ X
)




image2.png
@ Each box contains % of a pizza.

How much pizza is there in total?
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There are of a pizza in total.
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Subtract the wholes: 3 - I = C]
Subtract the parts % Q - Q
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Subtract the wholes: 4 -2 =

Subtract the parts:

43 15 DD
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0 Each glass contains % litres of milk. u u u u u

How many litres of milk are there in total?
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There are G Q litres of milk in total.
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e a) Use the model to help you work out% x &,
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b) Use the model to help you work out 2 x %.

0 | 2

2.





image6.png
@ Complete these multiplications.
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